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1. What should be the minimum power  

rating of the resistor R4 in the circuit 

shown in the figure? 

J1 = 1 A, E2=10 V, R2 = R3 = R4 = 2 Ω 

 

2. An automobile generator with an internal 

resistance of RG = 0.2 Ω develops  

an open-circuit voltage of EG = 16 V.  

The storage battery has an internal 

resistance of RB = 0.1 Ω and an open-

circuit voltage of EB = 12.8 V. Both sources 

are connected in parallel to a load RL = 1 Ω. 

Determine the load current IL. 

 

3. Make a power balance for the circuit shown 

in the figure (i.e., the power provided by  

the batteries equals the sum of the power 

dissipated by the resistances). 

E1 = 10 V, R1 = 4 Ω, E2 = 12 V, R2 = 2 Ω, 

R3 = 10 Ω 
 

 
 



4. Calculate the currents in all branches  

of the circuit shown in the figure using 

the superposition principle. 

E = 4 V, J = 1 A,  

R1 = 1 Ω, R2 = 2 Ω, R3 = 2 Ω 

 

5. An automobile generator with an internal 

resistance of RG = 0.2 Ω develops  

an open-circuit voltage of EG = 16 V.  

The storage battery has an internal 

resistance of RB = 0.1 Ω and an open-

circuit voltage of EB = 12.8 V. Both sources 

are connected in parallel to a load RL = 1 Ω. 

Determine the load current IL using  

the superposition principle. 

 

 
 


